ZOLLNER

SIGNAL SYSTEM TECHNOLOGIES

ELECTRO-MECHNICAL
BELL AND GONG SYSTEM
350EL / 500EL / 1+

General Features Essentials
The ZOLLNER Bell 350EL / Gong 500EL / 1+ system - full compliance with the Colregs 1972
is an electro-mechanical device to fulfill the - type approved by all wellknown international
requirements of the Colregs 1972, Rule 33(a) maritime authorities, certificates by the
"...avessel of 20 metres or more in length shall be classification societies on request

provided with a bell..., and a vessel of 100

metres in length shall, in addition, be provided with

a gong. ...manual sounding ... shall always be possible."
The system consists of one electro-mechanical bell 350EL,
one electro-mechanical gong 500EL and the control and
connecting unit Signal Automaton 1+

Sound characteristics Advantages
- true sound of bell and gong - latest technical standard
- sound pressure level of 110 dB at 1 m distance - best material and workmanship - made in Germany

- maintenance free



= Glocke / Bell 350 EL
ZOLLNER elektromechanisch angetrieben

SIGNAL SYSTEM TECHNOLOGIES with elektro-mechanical drive
425
190 Geywcht: ca.32 kg
- -— weight
‘ o
™
o
<t
™
(o]
(e0]
<
% @% : Zugrichtung
R pull direction
‘ / XR%%
o @ ca.350 :
’ o X
55 | Einfiihrung M24x1.5 5
- - fur Kabel-AuRen @10-17.5mm 553
\ cable gland M24x1.5 %%
for cable ext. dia. @10-17.5mm
o S 7 e Handbetatigung
i © Q 7 hand operation
' *
T
|
03/07 Ph ZOLLNER-KIEL 0144630-4d,e

Anderungen Vorbehalten! / subject to alteration!




ZOLLNER

SIGNAL SYSTEM TECHNOLOGIES

Gong 500 EL

Elektromechanisch angetrieben
with elektro-mechanical drive

Gewicht: ca.24 kg

640

640 weight
o
N
(0]
S
&
Handbetatigung
hand operation
100
5
2777
ed !
" o
o0
AN
L
i ] |

Einfiihrung M24x1.5 fir Kabel-AuRen @ 10-17.5mm

cable gland M24x1.5 for cable ext. @ 10-17.5mm

06.02 Fl

ZOLLNER-KIEL

0144538-4d,e

Anderungen vorbehalten! /subject to alteration!




= Signalautomat 1+, Glocke, Gon
ZOLLNER J 2

SIGNAL SYSTEM TECHNOLOGIES Slgnal AUtomaton 1+, Be", Gong

elektromechanisch angetrieben
with elektro-mechanical drive

elektromechanisch angetrieben
with elektro-mechanical drive

Glocke / Bell 350 EL Gong 500 EL

0144630 Gewicht: ca.32 kgl 0144538 Gewicht: ca.24 kg
weight weight
640
425
190
o
o
o ™
=
©
o
[o)]
[ce]
o ol
< S
™
3
< ]
[___;;4—__\
il \ Handbetétigung
eyl " hand operation
= @— Zuprmns,
5 100
1 ’,
S %] ca.;\ S p2
[sp] w0
Einfiihrung M24x1.5
fur Kabel-AuBen @10-17.5mm o
55 I o] @
cable gland M24x1.5 N
iy for cable ext. @10-17.5mm Handbetétigung -y
and operation [ |
Qo 3 I
1 Einfiihrung M24x1.5 fiir Kabel-AuRen @ 10-17.5mm
I cable gland M24x1.5 for cable ext. & 10-17.5mm
Schaltkasten fiir / switchbox for Automaton 1+ Bedieneinheit fiir / control unit for
mit/ohne Stillstandsheizung / with/without space heating Automaton 1+
300 144 .
0144619 " Gewicht: ca.12kg 0144973 Gewicht: ca.0.5kg
weight weight
( ZOLLNER-SIGNAL-AUTOMAT )
1+
o DHI 49/12G/82
& + +
1 | (co00 sl N
)

i — ‘\-qr-'ho-

fiir Kabel @ 18-20,5 fir Kabel @ 14 - 16,5

ZOLLNER-KIEL

for cable ext. @ 18 - 20,5 for cable & 14 - 16,5 . )
0
N Einbaudffnung . 0o m Einbautiefe
1151
1:3;;3 cut out plug in depth mm
|
|
- + Switch-bi .
:% ZOLLNER-KIEL E = . 1 " - witch-box Con neCt' ng
o . example
= § % % 1=/ m| =
3
230V 60Hz

Kabelverschraubung nach DIN 89280 fir MGCG-Kabel
cable gland according to DIN 89280 for MGCG cable

Gong 500-EL Glocke 350-EL

MH 06.16 ZOLLNER-KIEL SW42.1

Anderungen Vorbehalten! / subject to alteration!



Schalteinheit

ZOLLNER far Signalautomat 1+ Glocke-Gong

SianaL Svstem Tecunorosi=sl Control Unit for Signal Automaton 1+ Bell-Gong

Gewicht ca. 0.5kg
weight

144

SIGNAL - AUTOMAT
1+

DHI 49/12G/82 @’
0 |

SIGNAL SYSTEM TECHNOLOGIES

Handtaster Glocke Automatik EIN Handtaster G
hand key bell automatic OFF andtaster iong
hand key gong
139

c6

Einbaubffnung
installation opening

Einbautiefe 115mm
plug in depth

Anderung vorbehalten! Subject to alteration!

Ph 08.11.05 ZOLLNER-KIEL 01449734




ZOLLNER

SIGNAL SYSTEM TECHNOLOGIES

Schaltkasten fur / switchbox for
Automaton 1+ Bell - Gong
mit Stillstandsheizung / with space heating

300

~ >
o A
Erdungsschraube
earthing screw | o | e
M8 0@ @0 | <
o
= = V‘_*
M30x2 for | (Lg A
cable @18 -20,5
M24x1,5 for _
cable @ 14 -16,5 = _ Wahlweise . i
r alternatively ST i
I
25,
LO.
(\'\ -
‘Bohrbild | o ~ —| ©
o || 28 ZOLLNER SRR
P ‘b.ore 1115 < | <
diagram™
Y. L
L 255 _ Yo il
== Y
257 -
< 371 -
- 423 -
cable gland
DIN 89280
MGCG cable
Gewicht
weight 12kg
Anderung vorbehalten! Subject to alteration!
MH 22/01/14 DE02 ZOLLNER-KIEL 0144619




SIGNAL SYSTEM TECHNOLOGIES

ZGLLN ER Operating Instructions

Automaton 1+

The Signal Automaton 1+ consists of a switch unit 0144973 and a switch
box 0144619.

After installation into the bridge console and electric connection the switch unit is ready for
operation at any time. The switch box shall be installed within the navigation bridge.

The Signal Automaton 1+ serves to release automatically the sound signals in accordance with
Rule 35 (g) of the Colregs 1972, which reads:

"A vessel at anchor shall at intervals of not more than one minute ring the bell rapidly for about
5 seconds. In a vessel of 100 metres or more in length the bell shall be sounded in the forepart
of the vessel and immediately after the ringing of the bell the gong shall be sounded rapidly for
about 5 seconds in the after part of the vessel. A vessel at anchor may in addition sound three
blasts in succession, namely one short, one prolonged and one short blast, to give warning of
her position and of the possibility of collision to an approaching vessel."

Activating the switch unit of the Signal Automaton the program is released automatically until it
is deactivated again.

With the hand key for bell and gong single signals may be released.

A hand release required according to Annex Il of the Colregs 1972 is possible with a "bell rope"
- part 21 of drawing 7332.

The angle of pull as shown on drawing SP 4630 shall be adhered to

(a possible security device for transportation must be removed).

Always state the Serial Number of the unit when placing a spare parts order.

06.02 FI Z('-')LLNER-KlEL 01808344-4e

Subject to alteration!



ZOLLNER

SIGNAL SYSTEM TECHNOLOGIES

10+SGA mit Schaltkasten 1+,Glocke, Gong
10+SGA with switch box 1+, Bell, Gong

elektromechanisch angetrieben

elektromechanisch angetrieben

Glocke / Bell 350 EL with elektro-mechanical drive Gong 500 EL with elektro-mechanical drive
0144630 Gewicht: ca.32 kgl 0144538 Gewicht: ca.24 kg
weight 640 weight
425
190
(=]
[sp]
o ™
<
©
o
D
@«
o ©
<t (&}
(s2)
3
¥ AL
— A4
i | AY Handbetatigung
zti:din ] hand operation
5 / @ Zurenuy .
5
1 /,
S (%) ca.; S //
0 [Te)
E"infuhrung M24x1.5
55 fiir Kabel-AuRen @10-17.5mm . i %
cable gland M24x1.5 N
T for cable ext. @10-17.5mm Handbetstigung -y
hand operation [ |

140

I
Einfihrung M24x1.5 fiir Kabel-AuRen & 10-17.5mm

cable gland M24x1.5 for cable ext. @ 10-17.5mm

Schaltkasten fiir / switchbox for Automaton 1+
mit/ohne Stillstandsheizung / with/without space heating

connecting e xample

0144619 300

Gewicht: ca.12kg
weight

210

1 [ *900

fiir Kabel @ 18 - 20,5 \fUr Kabel & 14 - 16,5
for cable ext. @ 18 - 20,5 for cable @ 14 - 16,5

Yol
N

-

386

| 357 |
| 11

&l

ZOLLNER-KIEL

400
350

3

440

«

W

CIRRJRR

Kabelverschraubung nach DIN 89280 fiir MGCG-Kabel
cable gland according to DIN 89280 for MGCG cable

10+SGA

230V 60Hz

Switch-box 1+

=

230V 60Hz

Gong 500-EL

Glocke 350-EL

MH 06/15

ZOLLNER-KIEL

SW42.2

Anderungen Vorbehalten! / subject to alteration!




ZOLLNER

SIGNAL SYSTEM TECHNOLOGIES

Automaton 10+SGA

General Features Essentials

The ZOLLNER Signal Automaton 10+SGA - type approved by the BSH

is an automatic signal control for all - automatic and manual
ZOLLNER whistles with electric signal release, signal release

for the electronic bell and gong system ZBG 110 - sound and light signals

and, in a modified version, for the - ready for connection of one or
electro-mechanical bell and gong system. two whistles,

It is programmed to release automatically the electronic bell and gong system,
maneuvring and warning signals according to one maneuver signal lamp and
Rule 34 (a, b, d), Rule 35 (a, b, ¢, e, g) of the separate push-buttonkeys
Colregs 1972, general emergency and - signal intervals adjustable
abandonvessel alarm. - dimmer for key illumination

A

-

COMBINED SIGNAL AUTOMATION 70+SGA
—

ZOLLNER

SIGNAL SYSTEM TECHNOLOGIES

Advantages Installation

- latest technical standard - in the center of the bridge console

- best material and workmanship - system voltage AC 1phase or 24V DC
- made in Germany - no special tools required

- functional membrane keyboard

- self-explanatory symbols

- pluggable, therefore easy
installation or repair

- maintenance-free




Automatic

Signalvorwahl

on/ off signal preselection
Regel/rule Regel/rule IMO Colreg 72
_ / 34ab,d 144/ 34ab,d L
A
Automatic
' UAAANS on/ off
r | - F \ Regel/rule
l/0 V) o
bell+gong
- i k.
Manual OMB D AL AUTOMATIO 0 /
horn ™~
R 3 ) G ) m—
IOF I T  <F (Y
<«
A 4 S
Dimmer
Stand by . ~
lamp OLO Manual lamp
90
60 0
r n
I O
0
J .
B 46162/60
y |

Automatic on/ off

Signalvorwahl

Zeiteinstellung Pfeifenvorwahl

Regel/rule 35ab,c.eg  signal preselection time set whistle preselection
Binbaudffung: 4 34,139mm DIN 43700 Einbautiefe: 100mm
cutout for installation: plug in depth:

(XYY Y] [ J [ X ] [ X X J A
Warnsignal Steuerbord Backbord Rickwarts Glocke/bell
attention starboard port astern gong
- - & aaee a»eee o@me
vessel making  vessel making vessel not vessel towed vesiel at
way through  no way through under command, - anchor
vessel restricted in her ability
water water

to maneuver, vessel engaged in fishing,
or towing or pushing another vessel

(TK

Horn
whistle

K

Licht
light

LW

M

Licht general abandon
light alarm ship
STAND BY

SW186e

ZOLLNER Signal GmbH Radewisch 40 D-24145 Kiel

Phone +49 4317027 -100 Fax +49 4317027 -202 signal@zoellner.de www.zoellner.de

03/11

Anderung vorbehalten!  Subject to alteration!



Z(“)LLNER Ersatzteilliste / spare part list 1

SIGNAL SYSTEM TECHNOLOGIES GIOCke I be" 350 EL

170 160,150 200 190 230 180

A

jan x =
NIRRT j’
10
160
140
o : 130
1% 40
ﬁﬂ_ b 100
=5
@ 120
_ 30
% 0
/ 90
80
220
240 110 210
06/02 FI ZOLLNER-KIEL 01707332.02-4d,e

Anderungen Vorbehalten! / subject to alteration!




Z(“)LLNER Ersatzteilliste / Spare part list
SIGNAL SYSTEM TECHNOLOGIES G Ioc ke / bell 350 EL 2/2

Pos. Stck. Bestell-Nr. Techn. Daten Bezeichnung Designation
ltem Qty Order-No. Techn. Data

10 1 0105859 & 350 Glocke bell

20 1 883001000 200N/15mm Gleichstrommagnet DC magnet

30 1 0104649 45 x 25 Kléppeleinsatz striker insert

40 1 0104650 D24 x15 Spannbuchse fixing bush

50 1 0104648 & 60 x 60 Kléppel striker

60 1 0104641 485x285 Halter holder

70 1 677072415 M 24x1,5 Kabelverschraubung  cable gland

80 1 2011060402 BM 6x40 Augenschraube eye bolt

90 1 21034061 M 6 Sechskantmutter hexagon nut
100 1 0103651 @12x20 Druckfeder pressure spring
110 2 21034101 M 10 Sechskantmutter hexagon nut
120 1 21037101 VM 10 Sicherungsmutter safety nut
130 1 2044060161 M 6x16 Sechskantschraube hexagon screw
140 4 2035080301 M 8x30 Zylinderschraube cylinder screw
150 1 2044080161 M 8x16 Sechskantschraube hexagon screw
160 5 211300081 8x14,8x2 Sicherungsscheibe safety washer
170 1 0104106 50x5x100 Sicherungsblech safety plate
180 1 2044240901 M 24x90 Sechskantschraube hexagon screw
190 2 21034241 M 24 Sechskantmutter hexagon nut
200 3 211100251 B 25 Scheibe washer
210 1 883003310 & 25x220 Glockenbandsel bell rope
220 1 883003410 >6/W13 Schakel shackle
230 2 211120241 B 24 Federring spring washer
240 1 211100101 A 10,5 Scheibe washer

06/02 FI ZOLLNER-KIEL 01707332.02-4d,e

Anderung vorbehalten! Subject to alteration!




A Ersatzteilliste / spare part list 1/2
SZGOSSLMLTNOEOE Gong 500 EL

10 140

20 NE \ I

120

30
40

180 ]

200

210 300
150

Anderung vorbehalten! Subject to alteration!

MH 10/01/11 RevO1 ZOLLNER-KIEL 01707563.02d,e




ZOLLNER Ersatzteilliste / Spare part list
SIGNAL SYSTEM TECHNOLOGIES Gong 500 EL 2/2
Pos. Stck. Bestell-Nr. Techn. Daten Bezeichnung Designation
ltem Qty Order-No. Techn. Data
10 1 0104090 640x640x258 Halter holder
20 1 883005000 & 500 Gong gong
30 1 0104093 & 80 x 60 Kiéppel striker
40 1 2044100201 M 10x20 Sechskantschraube hexagon screw
50 1 01046471 340x40 Hebel lever
60 1 57004010 & 40 Kugelknopf ball end of lever
70 1 883001000 200N/15mm Gleichstrommagnet DC magnet
80 3 21034101 M 10 Sechskantmutter hexagon nut
90 1 2043081001 M 8x100 Sechskantschraube hexagon screw
100 1 21037101 VM 10 Sicherungsmutter safety nut
120 1 211100101 10,5 Scheibe washer
130 4 0104105 D 26,7 Zugfeder traction spring
140 6 21034081 M8 Sechskantmutter hexagon nut
150 10 211100081 & 8,4 Scheibe washer
160 4 2035080301 M 8x30 Zylinderschraube cylinder screw
170 1 0104184 & 10/1,3x28 Druckfeder spring
180 1 0102963 16x18/M5x15,5 Linsenschraube oval head screw
190 2 211100081 A 8,4 Scheibe washer
200 1 677072415 M 24x1,5 Kabelverschraubung  cable gland
210 2 01905942 M8x77 Spanndse streching eye
211 2 2011080402 BM 8x40 Augenschraube eye bolt
240 1 556154101 M 10x1 Schmiernippel grease nipple
250 1 0104646 @ M10x250 Gewindestange tie rod
300 1 21037081 VM 8 Sicherungsmutter safety nut

Anderung vorbehalten! Subject to alteration!

01/11 MH RevO1

ZOLLNER-KIEL

01707563.02d,e




ZOLLNER

SIGNAL SYSTEM TECHNOLOGIES

Ersatzteilliste / spare part list
Schaltkasten / Switchbox
Automaton 1+

40

Pos.
ltem

10
20
30
40
50
60
70
80
90
90
100
100

20
\
60 —

50 —— |

©l

10— |

30— |

70—

Stck.

Qty

@\ | f @
J 1 —100
90 |J__|::|__L| III III III III |J__|::|__L|
Bestell-Nr. Techn. Daten Bezeichnung Designation
Order-No. Techn. Data
0116100 224x90x1,5 Relaisplatine relay pc board
0116694 224x159x1,5 Steuerplatine control pc board
6800102042 100VA/230V Transformator transformer
683708906 6,3A 5x20 Sicherung fuse
683320105 0,5A 5x20 Sicherung fuse
683320140 4,0A @5x20 Sicherung fuse
7484.70 Klemmleiste kompl. terminal compl.
8870029991 300x400x200 Gehause housing
677073002 M30x2 Kabelverschraubung  cable gland
677023020 M30x2 Gegenmutter counter nut
677072415 M24x1,5 Kabelverschraubung  cable gland
677022415 M24x1,5 Gegenmutter counter nut

NN AN N

MH 22.01.14DEO1

ZOLLNER-KIEL

01707523-4

Anderungen vorbehalten! /subject to alteration!




